
U3(8).33 (mod 19)

blocks defect matrix

G : 1 1 11× 9
2 0 571 = χ3,0, ϕ3,0

3 0 572 = χ3,1, ϕ3,1

4 0 573 = χ3,2, ϕ3,2

5 = 2 0 574 = χ4,0, ϕ4,0

6 = 4 0 575 = χ4,1, ϕ4,1

7 = 3 0 576 = χ4,2, ϕ4,2

8 0 3991 = χ5+, ϕ5+

9 0 11971 = χ8+, ϕ8+

blocks defect matrix

10 0 4561 = χ11,0, ϕ11,0

11 0 4562 = χ11,1, ϕ11,1

12 0 4563 = χ11,2, ϕ11,2

13 = 10 0 4564 = χ12,0, ϕ12,0

14 = 12 0 4565 = χ12,1, ϕ12,1

15 = 11 0 4566 = χ12,2, ϕ12,2

16 0 15391 = χ14+, ϕ14+

17 0 15392 = χ17+, ϕ17+

18 = 17 0 15393 = χ18+, ϕ18+

Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ2,0 ϕ2,1 ϕ2,2 ϕ13,0 ϕ13,1 ϕ13,2

11 = χ1,0 1 . . . . . . . .
12 = χ1,1 . 1 . . . . . . .
13 = χ1,2 . . 1 . . . . . .
561 = χ2,0 . . . 1 . . . . .
562 = χ2,1 . . . . 1 . . . .
563 = χ2,2 . . . . . 1 . . .

5121 = χ13,0 1 . . . . . 1 . .
5122 = χ13,1 . 1 . . . . . 1 .
5123 = χ13,2 . . 1 . . . . . 1
17011 = χ23+ . . . 1 1 1 1 1 1
17012 = χ24+ . . . 1 1 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ2,0 = 561
ϕ2,1 = 562

ϕ2,2 = 563
ϕ13,0 = 5111
ϕ13,1 = 5112
ϕ13,2 = 5113


